A CLASS OF INVERSE PROBLEMS FOR VISCOELASTIC MATERIAL WITH DOMINATING NEWTONIAN VISCOSITY

By

JAAN JANNO (Department of Mechanics and Applied Mathematics, Institute of Cybernetics, Tallinn, Estonia)

AND

LOTHAR VON WOLFERSDORF (Institut für Angewandte Mathematik I, TU Bergakademie Freiberg, Germany)

Abstract. Memory kernels in linear stress-strain relations involving a Newtonian viscosity are identified by solving a class of inverse problems. The inverse problems are reduced to nonlinear Volterra integral equations of the first kind which in turn lead to corresponding Volterra equations of the second kind by differentiation. Applying the contraction principle with weighted norms we derive global (in time) existence, uniqueness and stability of the solution to the inverse problems under similar assumptions as for related inverse problems in heat flow.

1. Introduction. In the linear theory of viscoelasticity for general materials with memory the constitutive stress-strain relation involves an integral term over the past history of the material containing a time-dependent kernel (cf. [13]–[15]). For identifying such memory kernels *inverse problems* have been used starting with the papers by Grasselli, Kabanikhin, Lorenzi [4, 5] and continued, for instance, in Grasselli [2], Lorenzi [12] and in our papers [8, 9].

In this paper we continue the investigations in [8, 9] to inverse problems for memory kernels in stress-strain relations involving a Newtonian viscosity term (see [15, pp. 21, 28]). As in [8, 9], by means of Fourier's method of eigenfunction expansion for the direct initial-boundary value problem, we reduce the inverse problem to a nonlinear Volterra integral equation of the first kind. Differentiation of it leads to a corresponding equation of the second kind. To this equation we apply the contraction principle in weighted norms obtaining global (in time) existence and uniqueness of the solution and stability estimates for it. This method has been applied to related problems first in Janno [7] and more generally in Bukhgeim [1]. In contrast to the "hyperbolic" cases dealt with

Received December 10, 1996.

¹⁹⁹¹ Mathematics Subject Classification. Primary 35R30, 35K35, 73F15; Secondary 45K05, 45D05.

in [8, 9] in the present "parabolic" case the needed assumptions are as weak as in the corresponding inverse problems for heat flow (cf. [10]).

The application of the contraction principle to the Volterra integral equation of the second kind gives a basis for the numerical computation of the solution by the iteration method. For simplicity, in the following we only deal with continuous memory kernels in the generic "main case". Corresponding problems with weakly singular memory kernels can be dealt with as in [9] and [10] and additional cases to the main case as in [8, 9]. Further, as in [8]–[10] inverse problems with observation functionals containing the traction can be treated (see also Grasselli [3]).

2. Problem formulation. We deal with the problem of identifying the continuous kernel m appearing in the linear parabolic integrodifferential equation

$$\rho u_{tt}(t,x) = \eta \Delta u_t + \beta \Delta u - \int_0^t m(t-\tau) \Delta u(\tau,x) \, d\tau + \chi(t,x) \tag{1}$$

in $Q = D \times (0, T)$, where D is a bounded domain in \mathbb{R}^n with piecewise smooth boundary $S, \eta > 0, \beta \geq 0$ are given constants, $\rho > 0$ and χ are given continuous functions on Q, and Δ denotes the Laplacian.

In the case n = 1 Eq. (1) occurs for viscoelastic wave propagation in a material with memory governed by the stress-strain relation

$$\sigma(t,x) = \eta \varepsilon_t(t,x) + \beta \varepsilon(t,x) - \int_{-\infty}^t m(t-\tau)\varepsilon(\tau,x) d\tau$$
 (2)

between the strain ε and the stress σ , where η is a Newtonian viscosity which we take as positive (for the case $\eta=0$ see our papers [8, 9]) and m is the relaxation memory kernel (see [15], pp. 21, 28). Further, we have $\varepsilon=u_x$ with the displacement u and, as usual, we assume $u(x,t)\equiv 0$ for t<0.

The solution u of Eq. (1) should meet the initial and boundary conditions

$$u(0,x) = \varphi(x), \quad u_t(0,x) = \psi(x) \quad \text{on } D,$$
(3)

$$u(t,x) = 0$$
 or $\partial_{\nu}u + \alpha u = 0$ on $\Sigma = S \times (0,T),$ (4)

where ν is the outer normal to S and φ , ψ and $\alpha \geq 0$ are given continuous functions on D and S, respectively.

In the *inverse problem* we have to find m for $t \in [0, T]$ from Eqs. (1), (3), (4) and, in addition, from a condition of the form

$$\Psi[u](t) = h(t), \quad t \in [0, T], \tag{5}$$

where h is a given continuous and differentiable function on [0,T] and Ψ a linear functional on $u(t,\cdot)$, for instance the values $u(t,x_0)$ of u in some fixed point $x_0 \in D$.

If we introduce the velocity $v = u_t$ in Eq. (1) we obtain the following equation for v (cp. [6] or [14, p. 135], for instance):

$$\rho v_t = \eta \Delta v - \int_0^t G(t - \tau) \Delta v(\tau, x) d\tau + \chi(t, x)$$
 (6)

where the kernel G is given by

$$G(t) = \int_0^t m(s) \, ds - \beta \tag{7}$$

and the function χ by

$$\chi(t,x) = f(t,x) - \Delta\varphi(x)G(t). \tag{8}$$

So, in the case $\Delta \varphi \equiv 0$ we arrive at a corresponding inverse problem for the smooth kernel (7) in a heat conduction problem which has been treated in [11]. Therefore, we assume $\Delta \varphi \not\equiv 0$.

In the following we consider the inverse problem for Eq. (1) as a particular case of the abstract problem

$$\ddot{u}(t) + \eta A \dot{u}(t) + \beta A u(t) - \int_0^t m(t - \tau) A u(\tau) d\tau = f(t)$$
(9)

in [0,T] with the conditions $u(0) = \varphi$, $\dot{u}(0) = \psi$ and (5), where $u, f \in ([0,T] \to X)$ are abstract functions with values in a Hilbert space X, Ψ is a linear functional on X, and A is a linear symmetric operator in X possessing a complete orthonormal system of eigenelements v_n with nonnegative eigenvalues μ_n of finite multiplicity:

$$Av_n = \mu_n v_n, \quad 0 \le \mu_1 \le \mu_2 \le \cdots \tag{10}$$

In the case of Eq. (1), where $A = -(1/\rho)\Delta$ with (4), we will not specify the space X in advance and deal with a general functional Ψ not necessarily continuous; only the coefficients $\gamma_n = \Psi[v_n]$ are assumed as finite numbers.

3. Reduction to an integral equation of the first kind. The solution u of Eq. (9) is taken in the form of the Fourier expansion

$$u(t) = \sum_{n=1}^{\infty} B_n(t)v_n. \tag{11}$$

By Eq. (9) and $u(0) = \varphi$, $\dot{u}(0) = \psi$ the scalar coefficient functions B_n in (11) are the solutions of the initial-value problem

$$\ddot{B}_n(t) + \eta \mu_n \dot{B}_n(t) + \beta \mu_n B_n(t) = \mu_n (m * B_n)(t) + f_n(t), \quad t \in [0, T], \tag{12}$$

$$B_n(0) = \varphi_n, \qquad \dot{B}_n(0) = \psi_n, \tag{13}$$

where $f_n(t)$, φ_n , ψ_n are the Fourier coefficients of f(t), φ , ψ , respectively, and * denotes convolution.

The problem (12), (13) is equivalent to the Volterra integral equation for B_n ,

$$B_n(t) - (L_n[m] * B_n)(t) = \Phi_n(t), \quad t \in [0, T], \tag{14}$$

where

$$L_n[m](t) = \mu_n(l_n * m)(t)$$
(15)

and Φ_n , l_n are the solutions of

$$\ddot{\Phi}_n + \eta \mu_n \dot{\Phi}_n + \beta \mu_n \Phi_n = f_n, \qquad \Phi_n(0) = \varphi_n, \qquad \dot{\Phi}_n(0) = \psi_n, \tag{16}$$

$$\ddot{l}_n + \eta \mu_n \dot{l}_n + \beta \mu_n l_n = 0, \qquad l_n(0) = 0, \qquad \dot{l}_n(0) = 1. \tag{17}$$

From (16), (17) we have

$$l_n(t) = \exp[-a_n t] \frac{\sinh b_n t}{b_n} \tag{18}$$

with

$$a_n = \eta \mu_n / 2, \qquad b_n = (\eta^2 \mu_n^2 / 4 - \beta \mu_n)^{1/2},$$
 (19)

where $\operatorname{Re} b_n \geq 0$, and

$$\Phi_n(t) = \varphi_n(\dot{l}_n(t) + \eta \mu_n l_n(t)) + \psi_n l_n(t) + (f_n * l_n)(t). \tag{20}$$

By (11) the additional condition (5) takes the form

$$\sum_{n=1}^{\infty} \gamma_n B_n(t) = h(t), \quad t \in [0, T], \tag{21}$$

provided the series in (21) is (pointwise) convergent. Using (14) with (15) the condition (21) is reduced to the nonlinear Volterra integral equation of the first kind

$$\int_{0}^{t} K[m](t-s)m(s) ds = g(t), \quad t \in [0,T], \tag{22}$$

where

$$K[m](t) = \sum_{n=1}^{\infty} \gamma_n \mu_n(l_n * B_n)(t),$$
 (23)

$$g(t) = h(t) - \sum_{n=1}^{\infty} \gamma_n \Phi_n(t).$$
 (24)

Defining the solution u of problem (9) with $u(0) = \varphi$, $\dot{u}(0) = \psi$ by Eq. (11), the integral equation (22) for m together with Eqs. (14) for the $B_n = B_n[m]$ are equivalent to the inverse problem.

4. Preparations. At first we prove the following estimates for the functions l_n in (18). For $t \ge 0$ and k = 0, 1, ... it follows that

$$\mu_n|l_n^{(k)}(t)| \le C_k \mu_n^k, \quad n = 1, 2, \dots$$
(25)

with positive constants C_k . Namely, from (18) we have

$$\mu_n l_n^{(k)}(t) = \mu_n \sum_{j=0}^k \binom{k}{j} (\exp[-a_n t])^{(k-j)} \left(\frac{\sinh b_n t}{b_n}\right)^{(j)}$$

$$= (-1)^k (2/\eta) a_n^{k+1} e^{-a_n t} \frac{\sinh b_n t}{b_n} + S_k,$$
(26)

where $S_0 = 0$ and

$$S_k = (\mu_n/2) \sum_{j=1}^k {k \choose j} (-a_n)^{k-j} b_n^{j-1} e^{-a_n t} (e^{b_n t} - (-1)^j e^{-b_n t}), \quad k \ge 1.$$
 (27)

Further, since the function $\sinh y/y$ is increasing for $y \geq 0$ and $0 \leq b_n \leq a_n$ in the case of real b_n we can estimate

$$\left| a_n e^{-a_n t} \frac{\sinh b_n t}{b_n} \right| \le a_n t e^{-a_n t} \frac{\sinh a_n t}{a_n t} \le \frac{1}{2}.$$
 (28)

For imaginary b_n we have $|\sinh b_n t/b_n t| \le 1$ which together with $|a_n t e^{-a_n t}| \le 1/e$ yields

$$\left| a_n e^{-a_n t} \frac{\sinh b_n t}{b_n} \right| \le \frac{1}{e}. \tag{29}$$

Moreover, by (19)

$$|e^{-a_n t} e^{b_n t}|, |e^{-a_n t} e^{-b_n t}| \le 1.$$
 (30)

Using (28)–(30) in (26), (27) as well as $a_n = \eta \mu_n/2$ and the inequalities

$$|b_n| \le \max\left(\frac{\eta \mu_n}{2}, (\beta \mu_n)^{1/2}\right), \qquad \mu_n^{1/2} \le \bar{\mu}^{-1/2} \mu_n$$

where $\bar{\mu}$ is the first non-vanishing eigenvalue, we obtain (25).

For proving existence and stability of the solution m to Eq. (22) we introduce the scale of norms

$$||m||_{\sigma} := ||e^{-\sigma t}m||_{C[0,T]} = \max_{0 \le t \le T} (e^{-\sigma t}|m(t)|), \quad \sigma \ge 0$$

with $||m|| := ||m||_0$. It follows that

$$e^{-\sigma T} \|m\| \le \|m\|_{\sigma} \le \|m\|, \quad \sigma \ge 0.$$
 (31)

Further, we denote the data set by $d=((\varphi_n)_{n\geq 1},(\psi)_{n\geq 1},(f_n)_{n\geq 1})$. Then our main lemma becomes

LEMMA. Let $m, f_n \in C[0,T]$ and

$$\sum_{n=1}^{\infty} |\gamma_n|\mu_n^3|\varphi_n| < \infty, \quad \sum_{n=1}^{\infty} |\gamma_n|\mu_n^2|\psi_n| < \infty, \quad \sum_{n=1}^{\infty} |\gamma_n|\mu_n^2||f_n|| < \infty.$$
 (32)

Then $K^{(3)}[m] \in C[0,T]$. Further, for kernels $K[m^{\alpha}, d^{\alpha}]$ corresponding to m^{α} , d^{α} , $\alpha = 1, 2$, respectively, the following inequality holds for $\sigma \geq 0$:

$$||K^{(3)}[m^{1}, d^{1}] - K^{(3)}[m^{2}, d^{2}]||_{\sigma} \le M(||m^{1}||_{\sigma}, ||m^{2}||_{\sigma}, |d^{1}|_{0}) \times \{||m^{1} - m^{2}||_{\sigma} + |d^{1} - d^{2}|_{0}\},$$
(33)

where M is a continuous function nondecreasing in each of its arguments and

$$|d|_{0} := \sum_{n=1}^{\infty} |\gamma_{n}| \mu_{n}^{2} [\mu_{n} |\varphi_{n}| + |\psi_{n}| + ||f_{n}||].$$
(34)

Proof. First, observe that for $v_1, v_2 \in C[0,T]$ we have

$$||v_1 * v_2||_{\sigma} \le T||v_1||_{\sigma}||v_2||_{\sigma}, \quad \sigma \ge 0.$$
 (35)

Thus, by (15) and (25) the kernel $L_n[m]$ of Eq. (14) fulfills the estimation

$$||L_n[m]||_{\sigma} \le c||m||_{\sigma}, \quad \sigma \ge 0, \tag{36}$$

with the positive constant $c = C_0 T$.

We write Eq. (14) in the form

$$e^{-\sigma t}B_n(t) - \int_0^t e^{-\sigma(t-s)}L_n[m](t-s)e^{-\sigma s}B_n(s) ds = e^{-\sigma t}\Phi_n(t)$$

and estimate its solution by means of Gronwall's lemma, obtaining the inequality

$$||B_n||_{\sigma} \le \exp(T||L_n[m]||_{\sigma})||\Phi_n||.$$
 (37)

Further, the difference $\Delta_n = B_n[m^1, d^1] - B_n[m^2, d^2]$ of B_n for two m^{α} and d^{α} , $\alpha = 1, 2$, satisfies the equation

$$e^{-\sigma t} \Delta_n(t) - \int_0^t e^{-\sigma(t-s)} L_n[m^2](t-s) e^{-\sigma s} \Delta_n(s) ds$$

= $\Phi_n^1(t) - \Phi_n^2(t) + (L_n[m^1 - m^2] * B_n[m^1, d^1])(t)$

where $\Phi_n^{\alpha} = \Phi_n[d^{\alpha}]$, $\alpha = 1, 2$. Again by Gronwall's lemma and (35) we get

$$\|\Delta_n\|_{\sigma} \leq \exp(T\|L_n[m^2]\|_{\sigma}) \times [\|\Phi_n^1 - \Phi_n^2\| + T\|L_n[m^1 - m^2]\|_{\sigma}\|B_n[m^1, d^1]\|_{\sigma}].$$

Using here (36) and (37), we derive the inequality

$$\|\Delta_n\|_{\sigma} \le M_1(\|m^1\|_{\sigma}, \|m^2\|_{\sigma})\|\Phi_n^1\|\{\|m^1 - m^2\|_{\sigma} + \|\Phi_n^1 - \Phi_n^2\|\}$$
(38)

with a continuous and nondecreasing function M_1 .

To obtain an analogous inequality for the derivative $\dot{\Delta}_n$ we observe that \dot{B}_n also satisfies Eq. (14) with the same kernel and the right-hand side $\hat{\Phi}_n = \dot{\Phi}_n + L_n[m]\varphi_n$. Therefore, estimating as above we get

$$\|\dot{\Delta}_{n}\|_{\sigma} \leq M_{2}(\|m^{1}\|_{\sigma}, \|m^{2}\|_{\sigma})(\|\dot{\Phi}_{n}^{1}\| + |\varphi_{n}^{1}|) \times \{\|m^{1} - m^{2}\|_{\sigma} + \|\dot{\Phi}_{n}^{1} - \dot{\Phi}_{n}^{2}\| + |\varphi_{n}^{1} - \varphi_{n}^{2}|\}$$
(39)

with a continuous and nondecreasing function M_2 again.

Now we can estimate the derivative $K^{(3)}$. In view of the relations $l_n(0) = 0$, $\dot{l}_n(0) = 1$, $\ddot{l}_n(0) = -\eta \mu_n$ in (17) from (23) we have

$$K^{(3)}[m] = \sum_{n=1}^{\infty} \gamma_n \mu_n (l_n^{(3)} * B_n + \dot{B}_n - \eta \mu_n B_n).$$
 (40)

This on account of (25) and (35) implies

$$||K^{(3)}[m^1, d^1] - K^{(3)}[m^2, d^2]||_{\sigma} \le c_1 \sum_{n=1}^{\infty} |\gamma_n| [(\mu_n^3 + \mu_n^2) ||\Delta_n||_{\sigma} + \mu_n ||\dot{\Delta}_n||_{\sigma}]$$
(41)

with a positive constant c_1 . For using here the inequalities (38) and (39) for Δ_n and $\dot{\Delta}_n$ we need estimations for Φ_n and $\dot{\Phi}_n$. Observing (25) from (20) we obtain

$$\mu_n \|\Phi_n^{(i)}\| \le c_{2,i} \mu_n^i [\mu_n |\varphi_n| + |\psi_n| + \|f_n\|], \quad i = 0, 1, \tag{42}$$

with positive constants $c_{2,i}$, i = 0, 1. Now the inequalities (41), (38), (39), and (42) imply the asserted inequality (33) with (34).

Finally, due to $m, f_n \in C[0,T]$ from Eq. (14) we see that $B_n, \dot{B}_n \in C[0,T]$. Moreover, analogously as in the proof of (33) in view of the assumptions (32) we derive the uniform convergence of the series in (40). This implies $K^{(3)}[m] \in C[0,T]$. The Lemma is completely proved.

5. Reduction to an integral equation of the second kind. Under a regularity assumption we reduce Eq. (22) to an integral equation of the second kind by differentiating Eq. (22) three times. Precisely, we have

THEOREM 1. Let $h \in C^3[0,T]$, $f_n \in C^1[0,T]$. Further, let the convergence conditions (32) and

$$\sum_{n=1}^{\infty} |\gamma_n| \, \|\dot{f}_n\| < \infty \tag{43}$$

be fulfilled. Moreover, the matching conditions

$$h(0) = \sum_{n=1}^{\infty} \gamma_n \varphi_n, \qquad \dot{h}(0) = \sum_{n=1}^{\infty} \gamma_n \psi_n,$$

$$\ddot{h}(0) = \sum_{n=1}^{\infty} \gamma_n f_n(0) - \eta \sum_{n=1}^{\infty} \gamma_n \mu_n \varphi_n - \beta \sum_{n=1}^{\infty} \gamma_n \mu_n \psi_n$$
(44)

are assumed. Then

$$g \in C^3[0,T], \quad g(0) = \dot{g}(0) = \ddot{g}(0) = 0.$$
 (45)

If, in addition,

$$a := \sum_{n=1}^{\infty} \gamma_n \mu_n \varphi_n \neq 0, \tag{46}$$

then Eq. (22) for $m \in C[0,T]$ is equivalent to the Volterra equation of the second kind

$$m(t) + \frac{1}{a} \int_0^t K^{(3)}[m](t-s)m(s) ds = \frac{1}{a} g^{(3)}(t), \quad t \in [0,T], \tag{47}$$

where $K^{(3)}[m] \in C[0, T]$.

Proof. By (24) we have for the derivatives of g

$$g^{(i)}(t) = h^{(i)}(t) - \sum_{n=1}^{\infty} \gamma_n \Phi_n^{(i)}(t), \quad i = 1, 2, 3,$$
(48)

where $h \in C^3[0,T]$ by assumption and $\Phi_n \in C^3[0,T]$ by (16) with the assumption $f_n \in C^1[0,T]$. Moreover, from (16)

$$\ddot{\Phi}_n = -\eta \mu_n \dot{\Phi}_n - \beta \mu_n \dot{\Phi}_n + \dot{f}_n. \tag{49}$$

Using (42) from (16) and (49) we get the estimations

$$\|\ddot{\Phi}_n\| \le c_3(\mu_n + 1)(\mu_n|\varphi_n| + |\psi_n| + \|f_n\|),$$

$$\|\ddot{\Phi}_n\| \le c_4\mu_n(\mu_n + 1)(\mu_n|\varphi_n| + |\psi_n| + \|f_n\|) + \|\dot{f}_n\|.$$
 (50)

In view of the assumptions (32) and (43) the estimation (50) shows that $g \in C^3[0,T]$ by (48). Further by (16) and (48) at t = 0 for i = 0, 1, 2 and the matching conditions (44) the relations $g(0) = \dot{g}(0) = \ddot{g}(0) = 0$ follow. So, (45) is proved.

Differentiating the kernel (23) two times and observing that from (17) and (13) we have $l_n(0) = 0$, $\dot{l}_n(0) = 1$ and $B_n(0) = \varphi_n$ we see that

$$K[m](0) = \dot{K}[m](0) = 0$$
 and $\ddot{K}[m](0) = a,$ (51)

where a is given by (46). Further by the Lemma we have $K^{(3)}[m] \in C[0,T]$ for $m \in C[0,T]$. Now, due to (45), (46), and (51) Eq. (22) is equivalent in C[0,T] to Eq. (47) obtained by differentiating it three times. Theorem 1 is proved.

6. Existence, uniqueness and stability. Using the equivalence of Eqs. (47) and (22) we derive the existence, uniqueness and stability of the solution to the inverse problem. At first we prove existence and uniqueness.

THEOREM 2. Let the assumptions of Theorem 1 be fulfilled. Then Eq. (22) has a unique continuous solution in [0, T]. The solution can be calculated from the equivalent Eq. (47) by the method of successive approximation.

Proof. By Theorem 1 Eqs. (22) and (47) in C[0,T] are equivalent. We write Eq. (47) in the form

$$m + L(G[m], m) = \chi \tag{52}$$

in the Banach space E = C[0,T] equipped with the scale of weighted norms $||m||_{\sigma}$ where

$$G[m] = (1/a)K^{(3)}[m], L(m_1, m_2) = m_1 * m_2$$
 (53)

and $\chi = (1/a)g^{(3)}$.

By Corollary 1 in [10], Eq. (52) has a unique solution for any $\chi \in E$ if G is an operator in E satisfying the condition

$$||G[m_1] - G[m_2]||_{\sigma} \le M(||m_1||_{\sigma}, ||m_2||_{\sigma})||m_1 - m_2||_{\sigma}$$
(54)

for $\sigma \geq 0$ and for every $m_1, m_2 \in E$, where M is a continuous function from \mathbb{R}^2_+ into \mathbb{R}_+ increasing in each of its arguments, and L is a bilinear operator from $E \times E$ into E such that the inequalities

$$||L(m_1, m_2)||_{\sigma} \le N_1 ||m_1||_{\sigma} ||m_2||_{\sigma}, \quad \sigma \ge 0,$$
 (55)

$$||L(m_1, m_2)||_{\sigma} \le N_2(\sigma) \min(||m_1||_{\sigma} ||m_2||, ||m_1|| ||m_2||_{\sigma}), \quad \sigma \ge 0$$
 (56)

are fulfilled for every $m_1, m_2 \in E$, where N_1 is a positive constant and N_2 is a continuous decreasing function from \mathbb{R}_+ into \mathbb{R}_+ vanishing for $\sigma \to \infty$.

The condition (54) is fulfilled for the operator G in (53) in view of the estimation (33) for $d^1 = d^2 = d$ in the Lemma. The inequality (55) with $N_1 = T$ follows from the basic estimation (35) of the convolution. Also we have the estimation

$$||m_1 * m_2||_{\sigma} \le ||m_1||_{\sigma} ||m_2|| \int_0^T e^{-\sigma s} ds = \frac{1}{\sigma} (1 - e^{\sigma T}) ||m_1||_{\sigma} ||m_2||$$

implying (56).

The proof of the applied Corollary 1 in [10] uses the contraction principle in a scale of norms $||m||_{\sigma}$ for sufficiently large σ . Therefore the method of successive approximation can be used for calculation of the solution m to Eq. (47). Theorem 2 is proved.

Finally, by Lemma 4 in [10] using the estimation (33) for general d^{α} , $\alpha = 1, 2$, we can prove the following stability theorem (cp. Theorem 2 in [10]).

THEOREM 3. Let the assumptions of Theorem 1 be fulfilled for two data sets $D^{\alpha} = (d^{\alpha}, h_{\alpha}), \ \alpha = 1, 2$, of the inverse problem. Then for the corresponding solutions m^{α} , $\alpha = 1, 2$, the stability estimate

$$||m^1 - m^2|| \le C(||m^1||, ||K^{(3)}[m^1, d^1]||, |a^1|^{-1}, |a^2|^{-1}, |D^1|, |D^2|)|D^1 - D^2|$$

holds provided $|D^1 - D^2|$ is sufficiently small. Here C denotes a positive constant, a^i are the non-vanishing constants

$$a^i = \sum_{n=1}^{\infty} \gamma_n \mu_n \varphi_n^i, \quad i = 1, 2,$$

and the semi-norm |D| is defined by

$$|D| := |d|_0 + \sum_{n=1}^{\infty} |\gamma_n| \, ||\dot{f}_n|| + ||h^{(3)}||$$

with $|d|_0$ given by (34).

Acknowledgments. The paper was written during a stay of J. Janno at the Freiberg University of Mining and Technology from September 1996 to December 1996. J. Janno acknowledges the support of this work by Deutsche Forschungsgemeinschaft (DFG) and the Estonian Science Foundation.

REFERENCES

- A. L. Bukhgeim, Inverse problems of memory reconstruction, J. Inverse Ill-Posed Problems 1, 193– 205 (1993)
- [2] M. Grasselli, An identification problem for an abstract linear hyperbolic integrodifferential equation with applications, J. Math. Anal. Appl. 171, 27-60 (1992)
- [3] M. Grasselli, On an inverse problem for a linear hyperbolic integrodifferential equation, Forum Math. 6, 83-100 (1994)
- [4] M. Grasselli, S. I. Kabanikhin, and A. Lorenzi, An inverse hyperbolic integrodifferential problem arising in geophysics, I, Sibirsk. Mat. Zh. 33, 58-68 (1992) (in Russian)
- [5] M. Grasselli, S. I. Kabanikhin, and A. Lorenzi, An inverse hyperbolic integrodifferential problem arising in geophysics, II, Nonlinear Anal., Theory, Meth. Appl. 15, 283–298 (1990)
- [6] G. Gripenberg, Unimodality and viscoelastic pulse propagation, Quart. Appl. Math. 51, 183-189 (1993)

- [7] J. Janno, On an inverse problem for a model of radial wave propagation in the media with memory. In: Numerical Methods and Optimization, Vol. 2 (eds.: G. Vainikko et al), Estonian Acad. Sci., Tallinn 1990, pp. 4-19
- [8] J. Janno and L. V. Wolfersdorf, Inverse problems for identification of memory kernels in viscoelasticity, Math. Meth. Appl. Sci. 20, 291-314 (1997)
- [9] J. Janno and L. V. Wolfersdorf, Identification of weakly singular memory kernels in viscoelasticity,
 Z. Angew. Math. Mech. 78, 391-403 (1998)
- [10] J. Janno and L. V. Wolfersdorf, Identification of weakly singular memory kernels in heat conduction, Z. Angew. Math. Mech. 77, 243-257 (1997)
- [11] J. Janno and L. V. Wolfersdorf, Inverse problems for identification of memory kernels in heat flow,
 J. Inverse Ill-Posed Problems 4, 39–66 (1996)
- [12] A. Lorenzi, Identification problems for integrodifferential equations. In: Ill-Posed Problems in Natural Sciences (ed.: A. Tikhonov), TVP Sci. Publ., Moscow, 1992, pp. 342–366
- [13] A. C. Pipkin, Lectures on Viscoelasticity Theory, 2nd ed., Springer, New York, 1986
- [14] J. Prüss, Evolutionary Integral Equations and Applications, Birkhäuser-Verlag, Basel, 1993
- [15] M. Renardy, W. J. Hrusa, and J. A. Nohel, Mathematical Problems in Viscoelasticity, Longman, London, 1987